6A1 CH4

2
6A1
CH, 16
45
45% 55%
1989
5
1954 1979
1980
45 1980 2003 t
1980 | 1981 | 1982 | 1983 | 1984 | 1985 | 1986 | 1987 | 1988 | 1989 | 1990 | 1991
377 322 332 299 282 272 265 266 265 260 250 156
25 29 39 43 48 55 61 70 79 87 93 65
266 308 349 391 433 475 442 409 376 342 309 582
1992 | 1993 | 1994 | 1995 | 1996 | 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003
119 125 103 94 87 76 66 52 42 29 23 23
54 63 57 56 57 54 47 43 36 35 30 30
562 527 435 326 219 187 160 143 143 140 130 130
16
1989 1990
!
1979 1980
1954
16
1980 1985 1981
1984 1986 1989 2003 2002
1979 1980
1954
3
6A1 CH, CHg,
36 103
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6A1 CHA4
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11 Sheldon-Arleta
46 1990 2003 t
1990 1991 1992 1993 1994 1995 1996
334 352 370 387 403 419 434
2 2 3 3 4 5 5
1997 1998 1999 2000 2001 2002 2003
449 462 475 486 497 506 515
6 7 8 9 10 11 11
6Al1 CH,
1954
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6A1 CH4

47 1990 2003 GgCO;
1990 1991 1992 1993 1994 1995 1996
1,022 1,085 1,142 1,201 1,288 1,329 1,377
3 4 4 5 6 7 9
1,025 1,089 1,146 1,206 1,295 1,337 1,386
1997 1998 1999 2000 2001 2002 2003
1,357 1,359 1,390 1,418 1,442 1,470 1,496
9 10 11 13 14 15 17
1,367 1,369 1,401 1,430 1,456 1,486 1,512
CH,
Ug = \/Uc2 +UGZ +UM2 +UMCF2
UEF -
Uc -
Us -
UM CH4 -
Unmcr
6A1 CH, 95%
19.6%

45



6A1 CHA4

48
37.4 18.5 8,084 10.0
46.0 6.2 3,467 10.0
44.2 4.6 1,259 10.0
46.3 3.8 1,484 10.0
46.6 1.7 1,315 10.0
415 38.3 112,011 10.0
5 95%
10.0%
ii
6Al1 CH,
iii
54.2%
6A1 CH,
2
U = Z(Ut,AXAl)
A ZA{
Ua -
Uia t -
A t
t 17T T
t
t
t
2 2
Ui = \/Ut,WDS +U,p
Uiwps t -
Uip . t
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6A1 CH4

6A1 CH,
i
36.4%
49
60%
35%
Upys=U,s=[S=S,|/S
= 0.55-0.35 /0.55
=0.364
S
So
i
6A1 CH,
iv
2003 15.8

a7



6A1 CHA4

50

%

6A1 CH,

54.2

15.8

56.4

6A1 CH,
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6A1 CH4

& 6A1 CH,
CH,
CH,4
6A1
a
CH,4
b
6A1 CH,
c
6A1 CH,
E=>(EF, xA)
E : CH, kgCH,4
Ai . i
t
d
a
b
6Al1 CH,
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6A1 CHA4

CH,
EF, =C, x MCF xG x M x1000/12 x 16
Ci i -
MCF -
G : -
M : CH, -
[
35 40
GPG 2000 10 40
40%
ii
GPG 2000 40%
iii
2% 10
17
7.5
51 %
7.5 17
9.93 14
3.00 2
' 14 46-52 1982
3.63
2.23
3.58
iv
2003
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6A1 CH4

45%
V
GPG 2000 40%
2
6Al1 CH,
1.0
1.0 0.5
3
6Al CH, 50
4 CH,4
6A1 CH, 50
c
52 1990 2003 kgCH4/t
1990 1991 1992 1993 1994 1995 1996
133 133 133 133 133 133 133
133 133 133 133 133 133 133
66.7 66.7 66.7 66.7 66.7 66.7 66.7
25.0 25.0 25.0 25.0 25.0 25.0 25.0
150 150 150 150 150 150 150
133 133 133 133 133 133 133
1997 1998 1999 2000 2001 2002 2003
133 133 133 133 133 133 133
133 133 133 133 133 133 133
66.7 66.7 66.7 66.7 66.7 66.7 66.7
25.0 25.0 25.0 25.0 25.0 25.0 25.0
150 150 150 150 150 150 150
133 133 133 133 133 133 133
d
GPG 2000
2006 IPCC
e

51

15

2005



6A1 CHA4

CH,4

DS sawage = Z (SI x Wsawage,i )

DSsawage .
Si . i

Wsawage,i . I

CH,4

6Al1 CH,
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6A1 CH4

1995

1984
1985

53 1980 2003 t

1980 1981 1982 1983 1984 1985 1986 1987 1988 1989 1990 1991

256 256 256 256 256 256 223 230 226 215 221 244

1992 1993 1994 1995 1996 1997 1998 1999 2000 2001 2002 2003

216 248 199 204 199 169 166 186 145 91 80 84
1996 2003
1985 1995
1984 1985
i
CH,
6B2 CH,
2002 2 2007

DSseptic,an = {(Sdirect ><Wdirect )+ (Streat ><\Ntreat )}X I:an
DSseptic,semi = {(Sdirect ><\Ndirect )+ (Streat ><\Ntreat ) X I:semi

Dsseptic,an : t
DSseptic,semi :

Sirect . t
Streat :

Wdirect . 1- -
Wireat : 1-

Fan . -

Fsemi
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6A1 CH4
1999
2000
1999
0.25
2002
1998
2000
85% 1-0.85 15
70% 1-0.7 30
6A1 CH,
8
54 1978 2003 t
1978 1979 1980 1981 1982 1983 1984 1985 1986 1987 1988 1989 1990
50 51 47 46 45 45 43 43 42 41 41 40 38
1 2 3 4 5 6 7 9 10 11 12 13 14
51 53 50 50 50 52 50 51 52 52 53 53 53
1991 1992 1993 1994 1995 1996 1997 1998 1999 2000 2001 2002 2003
38 37 36 34 33 32 30 30 28 27 21 21 21
16 17 18 19 20 21 22 22 23 23 26 27 27
53 53 53 53 53 53 52 52 52 50 47 49 49
1999 2002
1998
2000
2003 2002
iii
Dswater = Z(SI X LI)
DSuater t
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6A1 CH4

Si i t
L i .
5,001
2002
5
2002 23%
55 1980 2003 t
1980 | 1981 | 1982 | 1983 | 1984 | 1985 | 1986 | 1987 | 1988 | 1989 | 1990 | 1991
132 161 181 195 171 237 166 225 237 212 199 190
1992 | 1993 | 1994 | 1995 | 1996 | 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003
192 172 167 166 150 148 123 127 146 132 99 70
1979 1980
iv
1989
1990 1988
1989
2003
15
1999 2002
1998
2004
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6A1 CHA4

1999
1998 1998
70 30
56 t
1990 | 1991 1992 1993 1994 | 1995 1996
220 196 172 149 125 101 77
390 348 306 264 222 180 138
1997 1998 1999 | 2000 2001 | 2002 | 2003
67 59 45 48 77 70 52
120 105 80 96 69 66 36
15
1999 2002
1998
2004
1990 1998 1999 1990
1998
1989 1990
1989 1990 1991 1992 1993 1994 1995 1996
250 220 191 161 131 55 83 47
150 132 114 96 79 33 50 28
1997 1998 1999 2000 2001 2002 2003
114 65 21 19 19 15 48
69 39 13 11 11 9 29
1990 1992
1989 1993
1988 1989
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6A1 CH4

1998
2004
70
30
58 t

1990 1991 1992 1993 1994 1995 1996
32 29 27 24 22 20 17
3,188 2,950 2,711 2,473 2,235 1,996 1,758

1997 1998 1999 2000 2001 2002 2003
16 15 14 15 14 24 16
1,655 1,552 1,458 1,254 993 785 600

15
1999 2002
1998
2004
1989 1990

Dslivestock = (S direct XWdirect )+ (Streat x Wtreat )

DSiivestock - t

Sirect . t

Streat : t

Wdirect . 1- -
Wireat : 1-

1997
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6A1 CHA4

2002 16.9%
9
70% 1-0.7 30
59 1980 2003 t
1980 1981 1982 1983 1984 1985 1986 1987 1988 1989 1990 1991
488 411 333 256 179 101 130 159 188 217 245 240
1992 1993 1994 1995 1996 1997 1998 1999 2000 2001 2002 2003
234 228 222 217 211 205 199 91 202 199 278 357
1998 2003
1980 1985 1990
1979 1980
2
6A1 CH,
4 p433-436 1993
2006 IPCC
4 60 Sheldon-Arleta
35% 11
60
MAT Mean annual temperature 20 2001
MAP Mean annual precipitation 1,700mm 17
PET Potential evapotranspiration 600mm 17
2006 IPCC 2.3 Boreal and Temperate WET
=4
-2 p84
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6A1 CH4

0.300

S 0.250

0.200

0.150

0.100

0.050

0.000

12 Sheldon-Arleta

0.25 1.0
0.9
0.8

~ 0.7
0.6

~ 0.5
0.4
0.3
0.2
0.1
0.0

C
61 1990 2003 t
1990 1991 1992 1993 1994 1995 1996
241 234 230 228 227 228 227
43 42 41 40 39 38 37
9 10 11 12 14 15 16
200 206 211 210 204 197 190
401 401 398 389 373 347 312
181 179 188 200 212 221 225
1997 1998 1999 2000 2001 2002 2003
223 216 207 198 189 178 165
36 35 34 33 32 30 29
17 18 19 20 21 22 22
183 175 167 158 150 143 137
274 235 202 174 150 130 112
225 223 220 212 200 189 182
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6A1 CHA4

62

2005 3

1996 2003

63

13 16

2005 3

1998 2002

64

2005 7

1990 2003

65

15

2005 3

1998 2003

66

2006 1

1989 2004

2006 IPCC
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6A1 CH4

1998
67 1990 2003 GgCO;

1990 1991 1992 1993 1994 1995 1996
674 655 645 639 637 640 635
120 118 115 113 110 107 105

13 14 16 17 19 21 22
105 108 111 110 107 103 100
1,264 1,262 1,252 1,226 1,175 1,092 983
507 502 526 561 595 619 629
2,682 2,659 2,665 2,666 2,643 2,581 2,474

1997 1998 1999 2000 2001 2002 2003
625 606 579 555 530 498 462
101 98 95 92 89 85 80

24 25 27 28 29 30 31

96 92 88 83 79 75 72

862 741 635 547 472 408 351

630 625 615 593 561 530 511
2,338 2,187 2,038 1,897 1,759 1,627 1,508

2005
2006
CH,4
CH,
CH,4
CH,4

61



6A1 CHA4

U =\/Uc,i2 +UGZ +UM2 +UMCF2

Ueri : i

Uci : i

Us : -
Uwm * CH, -
Uwmcr

68

%

CH,4

45%
35%

69

%

45%
35%

100.0%

62




70

6A1 CH4

60%
35%

2006 IPCC
DOC Degradable Organic Carbon
20.0%
71
% % % %
40.0 35.0 45.0 12.5
40.0 35.0 45.0 12.5
75 100.0
45.0 35.0 60.0 33.3
40.0 20.0
ii CH,
6A1 CH,
iii
72
72 %
CH,
12.5 40.0 10.0 10.0 44.2
12.5 40.0 10.0 10.0 442
100.0 40.0 10.0 10.0 108.6
33.3 40.0 10.0 10.0 54.0
20.0 40.0 10.0 10.0 46.9
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6A1 CH4

U, =

Uai
Ut,A,i

\/Z (Ut,A,i x Ay )2

ZAi,t

Ut,a,i t |
Uwi i -
Uip t )
i
73
73 %
10.0
10.0
10.0
40.0 15
100.0
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6A1

CH4

65

74 %
10.0
10.0
10.0
75 %
30.0 20.0 40.0
16.9 10.0 30.0
iii
6A1 CH,
30.0%
iv
2003 8.9
76
14.1 12.9
34.8 17.6
14.1 12.3
412 18.0
126.5 475
3
C



6A1 CHA4

77 %
442 12.9 46.1
4472 17.6 47.6
108.6 12.3 109.3
54.0 18.0 56.9
46.9 47.5 66.8

CH,

CH,4

66




6A3 CH4|

() 6A3 CH/
1996
IPCC Managed solid waste disposal sites
CH,
6A3
1996 IPCC
These must have controlled placement of waste (i.e., waste directed to specific deposition areas and a degree of
control of scavenging and a degree of control of fires) and will include at least one of the following:
-cover material;
-mechanical compacting; or
-levelling of the waste.
a
CH,
2003
3t CH,
b
6Al CH,
c
E=EFxA
E : CH, kgCH,
EF : kgCHy/t
A .
t
d
a
1t CH,4 kg
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6A3 CH4

6A1 CH,
CH,4
EF =C, s X MCF xG x M x1000/12 x 16
Cwood : -
MCF -
G -
M : CH, -
CH,
CH,
6A1 CH,
1.0
78 1990 2003 kgCHy/t
1990 1991 1992 1993 1994 1995 1996
146 147 147 148 152 151 151
1997 1998 1999 2000 2001 2002 2003
144 140 139 139 138 138 138
6A1 CH,
6A1 CH,
t
6A1 CH,
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6A3 CH4|

1
6A1
CH,
2002
2001 2002
79 t
1980 1981 1982 1983 1984 1985 1986 1987 1988 1989 1990 1991
1990 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8
1991 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
1992 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
1993 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
1994 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
1995 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
1996 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
1997 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
1998 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
1999 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
2000 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
2001 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
2002 2.1 0.0 0.0 0.6 3.2 0.3 12.6 5.9 0.8 12.6 48.8 21.8
2003 2.1 0.0 0.0 0.5 3.2 0.3 12.6 5.9 0.1 12.6 48.8 19.1
1992 1993 1994 1995 1996 1997 1998 1999 2000 2001 2002 2003
1990
1991
1992 10.0
1993 10.0 95.7
1994 10.0 95.7 11.3
1995 10.0 95.7 11.3 51.9
1996 10.0 95.7 11.3 51.9 63.9
1997 10.0 95.7 11.3 51.9 63.9 106.0
1998 10.0 95.7 11.3 51.9 63.9 106.0 202.5
1999 10.0 95.7 11.3 51.9 63.9 106.0 202.5 163.7
2000 10.0 95.7 11.3 51.9 63.9 106.0 202.5 163.7 144.9
2001 10.0 95.7 11.3 51.9 63.9 106.0 202.5 163.7 144.9 49.6
2002 10.0 95.7 11.3 51.9 63.9 106.0 202.5 163.7 144.9 49.6 31.2
2003 10.0 95.7 11.3 51.9 63.9 106.0 202.5 163.7 144.9 49.6 29.4 68.8
2001 2002
1979 1980
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6A3 CH4

70

2
6A1
CH,
c
80 1990 2003 t
1990 1991 1992 1993 1994 1995 1996
1.0 1.1 1.3 1.4 15 1.7 1.9
1997 1998 1999 2000 2001 2002 2003
2.2 2.5 3.0 3.5 4.2 5.0 57
d
81
14 16
2005 11
2002 2004
e
2001 2002
2001
2001
82 1990 2003 GgCO;
1990 1991 1992 1993 1994 1995 1996
3.2 3.5 3.9 4.3 4.9 5.5 6.2
1997 1998 1999 2000 2001 2002 2003
6.7 7.4 8.7 10.3 12.2 14.5 16.7
2005
NE 2006
CH,4



CH,

Ug = U2 +Ug% +U,, 7 +U o

Ugr : -
Uc :
Us :
Um . CH,. -
Umcr

20.0%

83

6A3 CH4|

1.0
0.8

U,er = (MCF - MCF, )/ MCF

= 10-08 /1.0
=0.2

MCF
MCFp

6A1 CH,

71



6A3 CH4

56.9%
2
U - Z(Ut,A x Al)
A ZAt
U/_\ -
Uia t
A t
t 1 7T T
t
t
2 2
Uia= \/Ut,WDS +Up
Ugwps - t
Uip : t
6A1 CH,

72

29.0%



Ua

84

6A3 CH4|

%

6A3 CH,

56.9

29.0

63.8
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6A3 CH4

() 6A3 CH/
CH, 2006 IPCC
CRF
6A3 CH,
a
CH4
b
CH4
CH4 CH4
CH,
2006 IPCC
Tierl CH,
c
CH4
E = EI:dry x Adry + EFwet x Awet
E : CH, kgCH,
EFgy dry KgCH,/t
Adry . dry t
EFwe wet kgCH,/t
At : wet t
d
2006
IPCC CH,4
a

74



6A3 CH4

b
2006 IPCC 2.5
c
85 1990 2003 kgCH,/t
1990 1991 1992 1993 1994 1995 1996
dry 10.0 10.0 10.0 10.0 10.0 10.0 10.0
wet 4.0 4.0 4.0 4.0 4.0 4.0 4.0
1997 1998 1999 2000 2001 2002 2003
dry 10.0 10.0 10.0 10.0 10.0 10.0 10.0
wet 4.0 4.0 4.0 4.0 4.0 4.0 4.0
d
2006 IPCC 2.5
e
a
b
dry wet
50% dry 50 wet 89
1
Cui=CyxF
Cwm.i i
Cwm t
Fi i t

75



6A3 CH4

1998
1997 1998
86 %
1990 1991 1992 1993 1994 1995 1996
32.0 32.0 32.0 320 320 32.0 320
40.0 40.0 40.0 40.0 40.0 40.0 40.0
3.3 3.3 3.3 3.3 3.3 3.3 3.3
9.3 9.3 9.3 9.3 9.3 9.3 9.3
15.4 15.4 15.4 15.4 15.4 15.4 15.4
1997 1998 1999 2000 2001 2002 2003
32.0 32.0 325 32.9 33.3 34.3 34.3
40.0 40.0 41.5 43.0 42.5 41.2 41.2
3.3 3.3 3.0 2.6 2.5 2.5 2.5
9.3 9.3 7.5 5.7 5.7 5.7 5.7
15.4 15.4 15.6 15.8 16.0 16.3 16.3
1997 1998
1999 1998 2000
2003 2002
87 t
1990 1991 1992 1993 1994 1995 1996
88.0 57.0 58.0 63.0 49.0 50.0 50.0
28.2 18.2 18.6 20.2 15.7 16.0 16.0
35.2 22.8 23.2 25.2 19.6 20.0 20.0
2.9 1.9 1.9 2.1 1.6 1.7 1.7
8.2 5.3 5.4 5.9 4.6 4.7 4.7
1997 1998 1999 2000 2001 2002 2003
54.0 63.0 60.0 68.0 66.0 66.0 71.0
17.3 20.2 195 224 220 22.6 244
21.6 25.2 24.9 29.2 28.1 27.2 29.3
1.8 2.1 1.8 1.8 1.7 1.7 1.8
5.0 5.9 4.5 3.9 3.8 3.8 4.0
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6A3 CH4

16
88 t
1990 1991 1992 1993 1994 1995 1996
103 102 105 107 106 110 115
1997 1998 1999 2000 2001 2002 2003
117 107 113 115 137 125 116
89
dry
wet
90 1990 2003 t
1990 1991 1992 1993 1994 1995 1996
dry 39 25 26 28 22 22 22
wet 138 125 129 132 126 130 135
1997 1998 1999 2000 2001 2002 2003
dry 24 28 26 28 27 28 30
wet 139 132 137 144 165 152 145
91
2 15
2005 11
1990 2003
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6A3 CH4

92
2 15
2005 3
1990 2003
93 1990 2003 GgCO;,
1990 1991 1992 1993 1994 1995 1996
dry 8.2 5.3 5.4 5.9 4.6 4.7 4.7
wet 11.6 10.5 10.8 11.1 10.6 10.9 11.3
19.8 15.8 16.2 17.0 15.2 15.6 16.0
1997 1998 1999 2000 2001 2002 2003
dry 51 5.9 5.4 5.9 5.8 5.9 6.3
wet 11.7 111 11.5 12.1 13.8 12.8 12.2
16.7 17.0 17.0 18.0 19.6 18.7 18.5
2005
NE 2006
CH,4
4B
2006 IPCC
2006 IPCC

78




94

6A3 CH4

kgCH,/t

kgCH,/t

kgCH,/t

%

dry

10.0

20.0

3.0

100.0

wet

4.0

8.0

1.0

100.0

U A,dry =

U

dry
dry

wet
wet

\/(U A, paper X Apaper)2 + (U A textile x A[extile )2 + (U A,wood X ANOOd )Z

Apaper + Atextile + A/vood

_ \/(U afood X Arood | T (U Asludge Asludge)2

Awet

UA,dry . d ry
Ua wet . wet
UA,paper :

UA,texti le

UA,Wood

UA,food

UA,sIudge

Apaper

Atextile

Awood

Afood

Asludge

dry

10.0%

Afood + Asludge
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6A3 CH4

95
t %
24.4 10.0
1.8 10.0
4.0 10.0
dry 8.2
ii wet
10.0%
10.0%
96
t %
29.3 10.0
116.1 10.0
wet 8.2
2 2
U=yU,’+U,
U -
Uer -
Ua -
97 %
dry 100.0 8.2 100.3
wet 100.0 8.2 100.3
6A3 CH, 74.4

80




6A3 CH4

81



6A3 N20|

() 6A3 N,O
N,O 2006
6A3
a
b
IPCC Tierl
Cc
N,O
E = EFdry X Adry + EFwet x A\Net
E N,O
EFary dry
Adry dry
EFwet wet
Avet wet
d
IPCC
a
1t
b
2006 IPCC 2.5

82

N,O

N,O

ngzo

N,O

kg

2006

2006



6A3 N20

c
98 1990 2003 kgN,O/t

1990 1991 1992 1993 1994 1995 1996
dry 0.6 0.6 0.6 0.6 0.6 0.6 0.6
wet 0.3 0.3 0.3 0.3 0.3 0.3 0.3

1997 1998 1999 2000 2001 2002 2003
dry 0.6 0.6 0.6 0.6 0.6 0.6 0.6
wet 0.3 0.3 0.3 0.3 0.3 0.3 0.3
d
2006 IPCC 2.5
e

6A3 CH,

99 1990 2003 GgCO;

1990 1991 1992 1993 1994 1995 1996
dry 7.3 4.7 4.8 5.2 4.1 4.1 4.1
wet 12.8 11.6 12.0 12.3 11.7 12.1 12.5

20.1 16.3 16.8 17.5 15.8 16.2 16.7

1997 1998 1999 2000 2001 2002 2003
dry 4.5 5.2 4.8 5.2 51 5.2 5.6
wet 12.9 12.3 12.8 13.4 15.3 14.2 135

17.4 17.5 17.6 18.6 20.4 19.4 19.1
2005
NE 2006
N,O
CRF 6A3 N.O
6D N,O
a
1
2006 IPCC
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6A3 N20

2006 IPCC
100
kgN,O/t kgN,O/t kgN,O/t %
dry 0.6 1.6 0.2 166.7
wet 0.3 0.6 0.1 100.0
6A3 CH,
95 96
U=yUg,’+U,’
u i
Uer -
Ua -
%
dry 166.7 8.2 166.9
wet 100.0 8.2 100.3
6A3 N,O 86.2
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6B1 CH4

6B
() 6B1 CH4
CH,
CH,4 6B1
a
CH4
b
GPG 2000 BOD
CH,4 1996 IPCC
CH, CH,
CH,4
BOD CH,4
CH,
c
BOD
E=EFxA
E : CH, kgCH,
EF kgCH,/kgBOD
A kgBOD
d
CH,
a
BOD 1kg CH, kg
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6B1 CH4

b
CH,
CH,
6B2 CH,
6B2 CH, m®
BOD BOD
EF = EF,, / Mo, x1000
8.8x107%/180x1000
0.00489 kgCH./kgBOD
EFm 6B2 CH,
kgCH./m®  8.8x10™*kgCH,/m®
Mgop mgBOD/I
6B2 CH,
BOD
2001
180mgBOD/I
C
102 1990 2003 kgCH./kgBOD
1990 1991 1992 1993 1994 1995 1996
0.0049 0.0049 0.0049 0.0049 0.0049 0.0049 0.0049
1997 1998 1999 2000 2001 2002 2003
0.0049 0.0049 0.0049 0.0049 0.0049 0.0049 0.0049
d
6B2 CH,
e
CH,
6B2 CH,
CH,
CH,

86

CH,4



6B1 CH4

a
BOD kg
b
CH,
BOD
1996 IPCC
103
A=Y (W, x BOD;)/1000
Wi . CH, i m?
BOD; i mgBOD/I
103 GgBOD/
09 544
10 122
1 86
12 2
15 1,430
17 651
18 2
19 13
20 1
21 3
1996 IPCC
2003 BOD
11 14
1 CHy
CH,
CH,

W, =1, x FCHA,i X Fonsite
l;

Feha,i CH,

I:onsite,i
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